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Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — V1T - EXAMINATION — SUMMER- 2017

Subject Code: 3321901 Date: 17-06-2017
Subject Name: Mechanical Drafting
Time: 10:30 AM to 01:30 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics,

English version is authentic.

ARG

Q.1 Answer any seven out of ten. EAMi&l SlEULL Ulcloll sellol L. 14
. Sketch Right hand thread & Left hand thread
1. RAB2 &5 el AE dos 2L EIRL
Draw neat sketch of symbol of first angle projection method and third angle
projection method.
ueiH 51814 e (- 51814 UL utr [d «i1 lrela{] 229 w15(d £3).
What is auxiliary view?
wlsofletdl e 9 B 2
Draw symbols of vacuum & oil.
dsyH el wleg U2 o Aeld Q7).
Sketch Woodruff key & Gib headed key
gs 2% 8l el oflet &35 €l €lRl.
Draw sketch of countersunk head rivet and pan head rivet.
516022 215 &5 Rde Uled &5 RAeef] uisd €12).
Draw symbols of Plug Weld & Seam Weld.
ol des uel A Aes ol Ruolet €1
Draw symbols of reducer & safety valve for flanged pipe fittings.
§4o5 UloU §lElaL w1l ASYUR A Asel dlcaqtl Yhola €12,
Draw sketch of sellers & B.A, Thread.
At Al ol A s el
Draw neat sketch of union & Coupling.
gYollalel ual sUCATOLell 2cr269 48[ €131

L

02 NN L X W W

L =
oo &

A hexagonal prism, base 25mm side and height 30mm long, is resting on its base on the (7
H.P. with two edges parallel to the VP, It is cut by a section plane perpendicutar to the

V.P., inclined at 45° to the H.P. and intersecting the axis at a point 40mm above the base.

Draw elevation, sectional plan & true shape of section.

YR () 25mmolly el 50 mm GAW ol As veslglla Qo HP R dett wall uz Al o9
A Gel B 3 Bl doll A sl VP ol AR & A5t Wl VP, ol cod vial

Q.2

-
B
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Q.3

UH. 3

(a)

(A)

(b)

(o)

(b)

(o)

(2)

(A)

(a)

(A)

(b)

H.P. A& 45%1 Rl ¢lolld & el A2 &l 40 mm GUR ofl [guiell umR agal

QotH o 80 B, 20 sUAAL Qo3H ol AAA, AS2AA Wellot wal MR Ul
AE

OR
A cone, diameter of base 60 mm and height 90 mm, is resting on HP on the
point on periphery of the base. Axis of the cone makes 60° with the HP and 30°
with the VP. Draw the projections of the cone when the apex is nearer to VP.
60 mm <A1 ¥ 90 mm GUI® dlol) 215 dell ULl dden <11 W5 [6{gUr HP Ul

Gel 8. deil uil HP UL 60° 2 VP AR 30° ol WL wald B, 2ige] (2R1[0lg,
VP ol tiieg €14 A 3 2Ugell Ul 1R\

A square prism, side of base 40 mm and height 60 mm rests on its base on the ground with
one of its base sides perpendicular to V.P. A section plane perpendicular to VP and
inclined at 45° to H.P. and passing through a point 15mm from the top end of the axis.
Draw the complete development of the prism between section plane and bottom of prism.

As Al WosH wale(l el 40 mm 2ol GAUS 60 mm B. A Aell WAl H.P. U 28
sl Aol Wakloll As 6l v.P A Gl 28 A 3l Gell &. A BELHS WUl H.P. WA
45° oll Wl slotlaicdl Aol v.p oL stewd, Al A 88 8 3 A udl ot Gur Bstell
15mm g2 As (olg Hiell e 2w 8. swAdl QosHell o« Aell Ayl elolstl [Qrel?

El=L.
OR

Draw the plan and elevation of a cone resting on H.P. on its base. Show on them, the
shortest path followed by a fly moving round the cone and returning to the same starting
point. Fly starts from a point on the periphery of base. Take base diameter of cone 80 mm
and height of axis 90 mm.

H.P. GUR U4l 2lgell Wilol ¥ AelAglel £12). W5 HIV{] U gell W ol s [Bigell
212 53] 2lga Ws w2 sl A o [6dg U ULl 53 @, Hiuil a3 sudd) gsiul 25
] Hdld), Aol Y 80 mm wA wel«{]l GUIY 90 mm 4.

A square prism edge of base 30 mm base and height 60 mm resting on its base in H.P. It
is completely penetrated by another square prism, edge of base 20 mm and 70 mm long
such that axis of both the prism bisects each other at right angle. Faces of both prisms are
equally inclined with V. P. Draw projections of solids showing the line of intersection.
W5 30 mm UILs{l 6119 242 60 mm Yol @lodle alonl YA [UrH HP. Hidal Uil
U Gl 8. A 25 20 mm Ul Ief] 6419 31 70 mm YR1+{] @lodle dlonl PRy Lruel]
A A Be B Y wAel]l il il A AL ML AR WA [osHed] Gefl quLEl) vep.
U A5 Yuil WRIL 641 B, | A]Sel UAURDN €3] wal BB 52U €l
tdldl.

OR
A cylinder of base diameter 60 mm and 90 mm long, resting on its base on HP. Tt is
penetrated by another cylinder of diameter 45 mm and 30 mm long such that their axis
bisects each other at right angles and parallel to V.P. Draw their projections showing the
line of intersection.

A5 60 mm ULl {2 24 90 mm Hilell dledle dlof) oS 5P, Hl dedl Ul
U Gel 8. d A& 45 mm YRl AIH Ma 90 mm YAl @iy dlonl «alsik d3
Al 71 B B 3 WAl uil Asu{lona VP, A AHid s1eudl 2l & WL 6412l 53

B, 241 A1d1Sel UAURD €12 el B2 5RUet 618 tldi1dl).

A circular pipe of 54 mm diameter and 100 mm long has a similar branch of 40 mm
diameter. The axis of the main pipe is vertical and is intersected by the axis of the branch
at an angle of 45° to the H.P. and 20 mm above base. Both the pipes are parallel to the
V.P. Draw its projections showing curves of intersection.
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(o)

(b)

(o)

Q.4 (2)

us. ¥ ()

(a)

(A)

(b)

(o)

Q.5 (a)

. v ()

(b)

(o)

54 mm <A1 ¥el 100 mm 18 t1dd] UIBU, 40 mm < l¥ell 215 AH 1ol 2LLil 81D
8. yuy Ulsus{] 43l G1e{l 8, 2113 6l UlSud] bl Yuy ulsu«] ul A g.p. 4189
45° o] W& ¥ ylylel] 20 mm GUR 8% . o UISY VP A AHIdR 8. Al
W1 sRlelef] €121 Ml Be2rA5RUet ElESel Wil

OR
A vertical cone, diameter of base 56 mm and axis 66 mm long is standing on H.P. on its
base. A cylinder of 30 mm diameter completely penetrated in the cone. The axis of the
cylinder s parallel to H.P. and V.P. and intersect the axis of cone at a point 20 mm above
the base. Draw projections of the solids showing curves of intersection.

W5 56 mm UlA Lol 1Y 2 66 mm Y-l dedlec 10T Geil 215 H.P. Ui dell Ul GUR
Gefl 8. 15 30 mm <AL=l 401512 A YY) 8 8. 1011512 ol 4] HLP. ¥ V.P. A
YU B wALisell ulA Uiy (el 20 mm GUR 8% . veeAsRlel 5 HIAedl eoilel]
auRl &l

Draw following views of Fig.-1 using “First Angle Projection Method.”
(1) Front View
(2) Sectional Top View

s ol YBsalet Aol Guallol s3] 2usld —1 otl ol Astl 2uucl €12
(1) AAA e

(2) BELHS GUell Eulla
OR

Two views of an object is given. Draw following views of Fig.-2
(1) Sectional Left hand side View.
(2) Top Plan

sl -2 Hi A5 dgeil A RuLd] AUl B, o{lAatl Euital €13
(1) BeLAs Slof] slegell Eulal

(2) GURell 2ulla

Draw following views of Fig.-3 using “First Angle Projection Method.”
(1) Sectional Front View
(2) Right Hand Side View,

s Aol YUBsalet lctoll Gualol s3] 208 -3 ol o{lAstl 2wial €l
(1) Belcs WA Eula.
(2) osHRIl e ogell Tl

An assembly of drawing of “Socket & Spigot Joint” is shown in Fig — 4. Draw detailed
drawing of each part in two views using “First Angle Projection Method. "Prepare part list.

53¢ Vol UBsalel etell Gualol 53l ausld — 4 1 calde Q0] gléotet

£3% Uéall & 2ultal 12l wé dlze el
Draw surface rough ness symbol for following

I.  Roughness value = § micron
I.  Production method = Milling
IH.  Sampling length =60 mm
IV.  Machining allowance =03 mm
V. Typeof Lay = Circular
106 Hddld HIBRU 2&a12led] Ulesd £13] ded U €21 1L,
I el = 08 HIB 5l
T WSSl uerld = Hl¢lat
o JAwuglol dodle = 60 HlHl
v.  Helldlbl Rg1Gat = o3 HlHl
V. 4 (el = AKER

e she sfeske sk sfe sk she sk skesfe ke
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Fig -1 0-4(a)
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Fig -2 O-4(a) OR
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